
Abstract
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ztk = x1(tk) + x1(tk)ξtk + etk ,

Example in the folder: Linear_M_Add
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Example in the folder: Linear_M_NoAuto
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ztk = x1(tk) + x1(tk)ξtk + etk ,

Example in the folder: Linear_M_NoAuto_Add
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ztk = x1(tk) + x1(tk)ξtk + etk ,

Example in the folder: Cox_M

dx1=(α+ θx1)dt+ ρ
√
x1dw1

dx2=βx22dt+ γx21dw2

ztk = x2(tk)− 0.001x32(tk) + (x2(tk)− 0.01x22(tk))ξtk + etk ,

where α = 0.0025, θ = −0.0175, ρ = 0.1, β = −0.01, γ = 0.05.
In all the examples {ξtk : ξtk ∼ N (0, λ2)} and {etk : etk ∼ N (0, σ2)} are sequences of random vectors i.i.d;

and E(ξtketk) = 0 for all k.

1


